ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name**

Vehicle No Tax is payable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Invoice Date : 04/10/2025 Place of Supply Greater Noida (Gautam Buddha N

Billing Details Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

								(CGST	9	SGST		IGST
SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
1	A-line Tops Rib Circular Knit Regular Regular Pull On Closure Solid Light Winter AW-22 Beatnik Casual Wear High Neck Full Sleeve Textured None Regular Sleeves Mid Fashion Womens Top	61061000	24.00	PCS	359.60	8,630.40	0.00	0.00	0.00	0.00	0.00	5.00	431.52
2	2 Piece Coord Polyester Woven Regular Fitted Zip Solid All Weather SS-24 Beatnik Evening Wear Round Neck Full Sleeve Textured Gathers Bishop Sleeves Mid Fashion Full Length Zip Mid-Rise Womens Coords	62041300	10.00	PCS	1,599.60	15,996.00	0.00	0.00	0.00	0.00	0.00	5.00	799.80
3	A-line Tops Rib Circular Knit Regular Regular Pull On Closure Solid Light Winter AW-22 Beatnik Casual Wear High Neck Full Sleeve Textured None Regular Sleeves Mid Fashion Womens Top	61061000	1.00	PCS	359.60	359.60	0.00	0.00	0.00	0.00	0.00	5.00	17.98

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For ZADLEY RETAIL PVT LTD

Sign:

Authorised Signatory

Name

ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name**

Vehicle No Tax is payable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Invoice Date : 04/10/2025 Place of Supply Greater Noida (Gautam Buddha N

Billing Details Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

								(CGST	9	SGST		IGST
SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
4	A-line Tops Rib Circular Knit Regular Regular Pull On Closure Solid Light Winter AW-22 Beatnik Casual Wear High Neck Full Sleeve Textured None Regular Sleeves Mid Fashion Adjuster	61061000	5.00	PCS	359.60	1,798.00	0.00	0.00	0.00	0.00	0.00	5.00	89.90
5	A-line Tops Rib Circular Knit Regular Regular Pull On Closure Solid Light Winter AW-22 Beatnik Casual Wear High Neck Full Sleeve Textured None Regular Sleeves Mid Fashion Adjuster	61061000	13.00	PCS	359.60	4,674.80	0.00	0.00	0.00	0.00	0.00	5.00	233.74
6	Formal Shirt Rayon Woven Regular Regular Button Solid Summer SS-25 Beatnik Casual Wear Spread Collar 3/4th Sleeve Solid Buttons Cuffed Sleeves Basic Essential Core Womens Shirt	62064000	3.00	PCS	599.60	1,798.80	0.00	0.00	0.00	0.00	0.00	5.00	89.94

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For ZADLEY RETAIL PVT LTD

Sign:

Authorised Signatory

Name

ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name**

Vehicle No Tax is payable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Place of Supply Invoice Date : 04/10/2025 : Greater Noida (Gautam Buddha N

Billing Details Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST Tin / GST / 09AABCZ9141K1ZT : / 09AABCZ9141K1ZT

								(CGST		SGST		IGST
SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
7	T-Shirt Jersey Circular Knit Regular Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Solid Patch Work Drop Shoulder Mid Fashion	61091000	3.00	PCS	599.60	1,798.80	0.00	0.00	0.00	0.00	0.00	5.00	89.94
8	A-line Dresses Polyester Woven Maxi Regular Pull On Closure Printed Summer SS- 21 Beatnik Casual Wear V-neck Half Sleeve Floral 1 N/A Regular Sleeves Mid Fashion Adjuster	61044300	1.00	PCS	1,079.60	1,079.60	0.00	0.00	0.00	0.00	0.00	5.00	53.98
9	Straight Fit Denim Denim Full Length Straight Button & Zip Solid All Weather AW- 23 Beatnik Casual Wear Stretchable High- Rise Textured Buttons Clean Look Mid Fashion Mild 200 WSH-18 Womens Jeans	62046200	4.00	PCS	959.60	3,838.40	0.00	0.00	0.00	0.00	0.00	5.00	191.92

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For ZADLEY RETAIL PVT LTD

Sign:

Authorised Signatory

Name

ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name** Vehicle No

Tax is payable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Place of Supply Invoice Date : 04/10/2025 Greater Noida (Gautam Buddha N

Billing Details Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST / 09AABCZ9141K1ZT Tin / GST : / 09AABCZ9141K1ZT

								(CGST	9	SGST		IGST
SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
10	Top & Pants Crepe Woven Crop Slim Fit Button & Zip Printed Summer SS-23 Beatnik Casual Wear Round Neck Short Sleeve Polka dot Buttons Puff Sleeves Mid Fashion Foot Length Button & Zip Mid-Rise Adjuster	62041300	4.00	PCS	1,279.60	5,118.40	0.00	0.00	0.00	0.00	0.00	5.00	255.92
11	Western Shirt Satin Woven Regular Regular Button Printed Summer SS-25 Beatnik Casual Wear Spread Collar Full Sleeve Floral Buttons Regular Sleeves Basic Essential Core Womens Shirt	62063000	5.00	PCS	799.60	3,998.00	0.00	0.00	0.00	0.00	0.00	5.00	199.90
12	T-Shirt Jersey Circular Knit Regular Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Figure print Vinyl Sticker Print Drop Shoulder Mid Fashion	61091000	4.00	PCS	399.60	1,598.40	0.00	0.00	0.00	0.00	0.00	5.00	79.92

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For ZADLEY RETAIL PVT LTD

Sign:

Authorised Signatory

Name

ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name**

Vehicle No Tax is payable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Invoice Date : 04/10/2025 Place of Supply Greater Noida (Gautam Buddha N

Billing Details Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST / 09AABCZ9141K1ZT Tin / GST : / 09AABCZ9141K1ZT

								(CGST		SGST		IGST
SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
	A-line Tops Rib Circular Knit Regular Regular Pull On Closure Solid Light Winter AW-22 Beatnik Casual Wear High Neck Full Sleeve Textured None Regular Sleeves Mid Fashion Adjuster	61061000	38.00	PCS	359.60	13,664.80	0.00	0.00	0.00	0.00	0.00	5.00	683.24
	A-line Tops Rib Circular Knit Regular Regular Pull On Closure Solid Light Winter AW-22 Beatnik Casual Wear High Neck Sleeveless Textured None Regular Sleeves Mid Fashion Adjuster	61061000	23.00	PCS	359.60	8,270.80	0.00	0.00	0.00	0.00	0.00	5.00	413.54
15	Top & Pants Rayon Woven Crop Fitted Button Printed Summer SS-23 Beatnik Casual Wear V-neck Short Sleeve Floral None Ruffled Sleeves Mid Fashion Full Length Hook & Zip High-Rise Adjuster	62041200	7.00	PCS	999.60	6,997.20	0.00	0.00	0.00	0.00	0.00	5.00	349.86

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For ZADLEY RETAIL PVT LTD

Sign:

Authorised Signatory

Name

ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name**

Vehicle No Tax is payable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Invoice Date : 04/10/2025 Place of Supply Greater Noida (Gautam Buddha N

Billing Details Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST / 09AABCZ9141K1ZT Tin / GST : / 09AABCZ9141K1ZT

								(CGST		SGST		IGST
SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
16	T-Shirt Jersey Circular Knit Crop Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion	61091000	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	0.00	5.00	59.96
17	Straight Fit Denim Woven Full Length Straight Button & Zip Solid All Weather AW- 24 Beatnik Casual Wear Stretchable High- Rise Twill Buttons Clean Look Basic Essential Core Clean Look 200 WSH-17 Womens Jeans	62046200	4.00	PCS	919.60	3,678.40	0.00	0.00	0.00	0.00	0.00	5.00	183.92
18	Treggings Acrylic Flat Knit Foot Length Regular Drawstring Solid Light Winter AW- 24 Beatnik Casual Wear Stretchable High- Rise Stripes None Basic Essential Core Womens Jegging and Treggings	62046200	8.00	PCS	799.60	6,396.80	0.00	0.00	0.00	0.00	0.00	5.00	319.84

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For ZADLEY RETAIL PVT LTD

Sign:

Authorised Signatory

Name

ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name**

Vehicle No Tax is payable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Invoice Date : 04/10/2025 Place of Supply Greater Noida (Gautam Buddha N

Billing Details Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST / 09AABCZ9141K1ZT Tin / GST : / 09AABCZ9141K1ZT

									CGST		SGST		IGST
SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
19	A-line Tops Rib Circular Knit Regular Regular Pull On Closure Solid Light Winter AW-22 Beatnik Casual Wear High Neck Full Sleeve Textured None Regular Sleeves Mid Fashion Adjuster	61061000	2.00	PCS	359.60	719.20	0.00	0.00	0.00	0.00	0.00	5.00	35.96
			161.00			91,615.60	0.00		0.00		0.00		4,580.78

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For ZADLEY RETAIL PVT LTD

Sign:

Authorised Signatory

Name

ZADLEY RETAIL PVT LTD

Shops No. A-59, 1st Floor Eastwood village Khajurla, Tehsil Phagwara, Distt Kapurathala GT Road NH 44, Jalandhar (Jalandhar), PUNJAB - 144411



GST No : 03AACCZ3447M1Z3 **Transporter Name**

Vehicle No Tax is pavable on Reverse Charge: No

Invoice No : PI00/00040/25-26 Date & Time of Supply 04/10/2025 5:30 AM

Invoice Date : 04/10/2025 Place of Supply : Greater Noida (Gautam Buddha N

Shipping Details Billing Details

Party Name : Zadley India Pvt Ltd (Purchase) ZADLEY INDIA PVT LTD Consignee & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST / 09AABCZ9141K1ZT Tin / GST : / 09AABCZ9141K1ZT

> Sub Total 91615.6 4580.78 TaxAmount Round Off -0.38Bill Amount 96196

Amount in Words: ₹ Ninty Six Thousand One Hundred Ninty Six Only

Amount of Tax Subject to Reverse Charge 0.00 0.00 0.00

Certified that the Particulars given above are true and correct

Electronic Reference No

For ZADLEY RETAIL PVT LTD

Terms & Conditions

All Disputes Subject to Jhajjar (Haryana) Jurisdiction.

Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

Sign: **Authorised Signatory**

Name Designation